8.14

grande base = AB

petite base = 2+ (3 AB) cos(a) = AB cos(a)
base moyenne = 2 AB (1 + cos(«))

hauteur = 7 AB sin(a)

aire du trapeze = 1 (AB)? sin(«a) (1 + cos()) = f(w)

f'(e) =

(i (AB)? sin(a) (1 + cos(a))) = i (AB)? <sin(a) (1 + cos(a)))/

(AB)? (sin’(a) (14 cos(a)) + sin(a) (1 + cos(a)),)
1 (AB)? (cos(oz) (1+ cos(a)) + sin(a) (— sin(a)))
5 (AB)? (cos(a) + cos’(a) — sin(a))
1 (AB)? (cos(a) cos?(a) — (1 — cos (a)))
1 (AB)? (2 cos?(a) + cos(ar) — 1)
2 (AB)?* (2 cos() — 1) (cos(a) + 1)

1) 2 cos(a) —1 =0 donne cos(e) =3, dot o =+F +2kw oukeZ
2) cos(a) +1 =0 entraine cos(a) = —1,dota=7+2knm ou k€ Z

Mais la donnée du probléme requiert « € [0;Z].
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Ainsi aire du trapéze est maximale si o = £

g .

Elle vaut f(%) = 1 (AB)? sin(%) (1+cos(Z)) = 1 (AB)? %2 (1+1) = 223 (AB)?

Analyse :
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